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1. LEAR dcll I gl Sl & 1. LEAR oils are referred to as :

(A)  ‘RiTa ar a1 ‘R SRy (A) “Single low’ or ‘single zero’
(B) ‘S @ A ‘SIA VRV (B) ‘Double low’ or ‘double zero’
(C) “foudt ar I feuat IR (C) “Triple low’ or ‘triple zero’
(D) SWa &l (D) Al of the above
2. ‘DAl T Pl NY G b 97 e b 2. The term ‘Canola’ is referred to as rape
w9 ¥ wefia feam o & R 2 & seed cultivars that contains :
(A) Td ¥ 2% T BF sHRID TRTS (A) Less than 2% erucic acid in oil
(B) 30 p-mol/g & &H IS CIRIER I (B) Less than 30 pumol/g of
glucosinolates
(C) T (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
3. WX ¥ UgIRmM B g 3. Androceium in fieldpeas are :
(A) 9+ 1 gdpw (SrIS®) (A) 9+ 1 stamens (diadelphous)
(B) 9+ 1 g'dpw (AT ) (B) 9 + 1 stamens (monoadelphous)
(C) 10 YOI (@HAFITSH) (C) 10 stamens (monoadelphous)
(D) SUYa H H IS Tl (D) None of the above
4. 3TTe] B B B IS DS T : 4. Centre of origin of potato crop is :
(A) qﬁ‘rﬁ (A) New Guinea
(B) U &R dreiifadr @ TSIl ydd (B) The Andes mountains of Peru and
Bolivia
(C) ST MR (C) North America
(D) S HRd (D) North India

AG—-6002 (3) Set-C



5. 3 & R ¥ ffoied § & aF-|1/9

B TE /8 ?

(A) T T affe der § o B
(1-2 wie), e 3R eMRaT T B
gl

(B) ¢ ool & |y goa! M
gfert 1-2 Wie odT & Fall € |

(C) 31 H3 TH YT T P V@ qal
gl 9T Bl € O & ¥CleH @
3 H YT BIar 2|

(D) SHIF T

6. Al ha HUHD WY A :

(A) TH A a9 & R sferdl 8iR
BT H Bl UAM W URAl @ @RE
g gl & |

(B) @t W O arad H Uvd IERn
ENT TR Aufdeid il @
e & |

(C) TAd G H & A A UM
@1 gig BNl |

(D) ST W

AG—-6002 (4)

Which of the following statement(s)

is/are correct about potato ?

(A) It is an annual plant with short
(1-2 feet), erect and branched

stems.

(B) Its compound leaves can be 1-2 feet

long with a terminal leaflet.

(C) The potato tuber is an enlarged
portion of an underground stem that

is borne at the end of a stolon.

(D) All of the above

The potato tuber is morphologically :

(A) A fleshy stem bearing buds and
eyes in the axil of small scale like

leaves.

(B) The ‘eyes’ on the tuber are actually
rudimentary leaf scars favoured by

lateral branches.

(C) Each eye contains at least three
buds from which next season’s

growth will emerge.

(D) All of the above

Set-C



A & d H [P UBR B

TS ®IUehaliss B & 7

(A) 3-[N

(B) 3IHT-ADIH

(©) T (A) 3R (B)

(D) SEw ¥ 3 K T

frafofed & 9 o9 Udeiwice
(GeMITAf > 100 1g/100 g AT ¥R 3R
PRICHRTS ~ 200 1g/100 g NI ¥R) &
TR e, B Th T et & ?

CHICY T G A a1 & ?
(A) WG EPIRGH el
(B) CITSHIURIDI TegeicH ek
(C) =M (A) 3R (B)

(D) SWad # | BIS T

AG-6002

(5)

Potato tubers contain which kind of
glycoalkaloids ?

(A) Alpha-solanine

(B) Alpha-chaconine

(C) Both (A) and (B)

(D) None of the above

Which of the following is a new

antioxidant rich potato  variety

(anthocyanins > 100 pg/100 g fresh wit.
and carotenoids ~ 200 ng/100 g fresh
wt.) ?

(A) Kufri Lalima
(B) Kufri Ganga
(C) Kufri Neelkanth

(D) Kufri Lima

What is botanical name of tomato ?

(A) Solanum lycopersicum L.
(B) Lycopersicon esculentum Miller
(C) Both (A) and (B)

(D) None of the above

Set-C



10.

11.

12.

AT SYENT & g ATge & S arell
U GRS ®U | SUGlS, IAaRId

Y J 3oNfIe THIER o

(A) TeldR HdX CHICY
(B) fher THIeR
(C) Il THIER

(D) WA & W B L

THICR &I ST &% @
(A) TRT 3R

(B) SIRI AR

(©) franfirm

(D) URRT AER

TR Bl Wigel WR A& B
g7

(A) 2n=2x=24

(B) 2n=4x=24
(C) 2n=2x=148

(D) 2n=4x =148

AG-6002

(6)

10.

11.

12.

The first commercially grown genetically
engineered tomato to be granted a license

for human consumption was :

(A) The Flavr Savr tomato

Fish tomato

(B)
Blue tomato

(©)

None of the above

(D)

Centre of origin of tomato is :

(A) South America

(B) North America

(C) Ethiopia

(D) Asia minor

What is the ploidy level of tomato ?

(A) 2n=2x=24

(B) 2n=4x=24
(C) 2n=2x=148

(D) 2n=4x=48

Set-C



13, frfoaRed § | SF-91 Hel & 9N AR

H TR AR GHER BT R B 2

(A) NguA

(B) @i

(C) ¥ss

(D) fdw

14, f=fafad & 9 fo9 Teoll & A Bl

RETCAD Ao HAT O & H@ifd I8
Ae-dRICH, dredE, e @ sk
FeldIES oI UIYe Ted YaT HRal § ?

(A) 3fic]

(B) THIX
(C) e AR
(D) Suga Wl

15. ¥R 4 WROE & T T IR A
b QRO fobm w7 o ?

(A)
(B)
(©)
(D)

AG-6002

1969

1869

1999

1899

(7)

13.

14.

15.

Which of the following flower parts

enclosed the pistil and stamens in pea ?

(A) Bracts

(B) Keel

(C) Standard

(D) Wing

Which of the following vegetable crops is
considered as a protective food because it

provides nutrients such as beta-carotene,

lycopene, Vitamin C and flavonoids ?

(A) Potato

(B) Tomato

(C) Garden pea

(D) All of the above

Sunflower  was introduced from

U.S. S. R. in India during :

(A) 1969
(B) 1869
(C) 1999

(D) 1899

Set-C



16.

17.

18.

iifted w9 ¥, qRogdl & dd 3>

FAf Tl B o H FY 81 dD d8R

T S -

(A) 3T 9UIT Il BT 3l SFuTd
(aiifer, ferifer 3iR fermrelfa)

(B) ®H FIW U Il (WAICH 3R
k)

(C) <HI (A) 3R (B)

(D) SWH # W B &

RO BT S W F
(A) TR FARBT

(B) WIfqud dg

(C) |H

(D) TIEOT I

BIeTI o U9 @ Wiige! WR T © 7

(A)
(B)
(©)
(D)

2n=2x=34

2n =2xXx =68

2n=4x=34

2n =4x = 68

AG-6002
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16.

17.

18.

Nutritionally, sunflower oil is somewhat

superior to other vegetable oils due to :

(A) The  greater  proportion  of
unsaturated fatty acids (oleic,
linoleic and linolenic)

(B) Lower saturated fatty acids

(palmitic and stearic)

(C) Both (A) and (B)

None of the above

(D)

Origin place of sunflower is :

(A) North America
(B) U.S.S.R.
(C) Spain

(D) South Africa

What is the ploidy level of Helianthus
annuus ?

(A)
(B)
(©)
(D)

2n=2x=34

2n =2xXx =68

2n=4x=34

2n =4x =68

Set-C



19, IROHE! FT JUHA B :
(A) dficem I7 g
(B) Hftwd A g
(C) TH
(D) Suda Wl

20. IROMEl TG HeAl I SUE@I © Fo

Hel ol 8, o fermfid g

gaE qd (SR ¥ 50-70 &) &1 AT
A &, G DT A BT U FRAT 2 IR
M Pl UREH B AR (SR W 60-90
&) om e 21 39 ufshar d ufRkwdl §iR
Fifegd T M M B ¢ |
(A eferngifien
(B) eI
(©) T (A) 3R (B)
(D) SWad # | BIg T2

21. 1920 & D DI YOAT H Ol DI A
BT ST 30% ¥ dGIBY qA H 50% A
e R B foy ol § sl
qhe g fafdy 7
(A) FHR 3T YOI
(B) e =g
(C) T &I Jer@ise fafdy
(D) ST W

AG-6002

(9)

19.

20.

21.

The inflorescence of sunflower is a :

(A)
(B)
(©)
(D)

Capitulum or head
Panicle or ear
Tassel

All of the above

Sunflowers show a phenomenon called as
............. in which the developing heads
face east (50-70° from north) in the
morning, follow the movement of the sun
and in the evening face west (60-90°
from north). Both leaves and involucral

bracts are involved in this process :

(A)
(B)
(©)
(D)

Heliotropism
Phototropism
Both (A) and (B)

None of the above

The highly successful breeding method in
sunflower for improving oil content from
about 30% in early 1920’s to over 50% in

the present day varieties is :

(A)
(B)
(©)
(D)

Heterosis breeding
Mass selection
Pustovoit method of reserve

All of the above

Set-C



22.

23.

24,

25.

26.

AG-6002

IRA # 0 969§ AcX SWEdH ol
o g H frEfeRad #§ 9 aF-a1 B
LR

(A) UG, STR Ue¥T 3R gRaron

(B) TR US¥, &4 Y ¥ 3fR UuTg

(C) TR U¥, UWe iR R
(D) UV, anfewm 3ik IR T

U6 THRW 49 & fau g dice Wi
@ 6 T 3 9 R 2

(A) 100 T

(B) 250 I

(C) 500 I

(D) 1000 I

TSd AR BT IS T & -
(A) UEHH WCEdd RIICT 34

(B) USHH Wcsdd RIIC plewd

(C) U Wegad RISl 8l
(D) USEH YrH dRIIC B

3T BT e TR AT

(A) TUICTl &% A dRRN (PLRV)
(B) 3l wge

(C) ©ic =mge

(D) dRIRIA faee

A B $e & T & QWG ol B BRI
B &

(D) SWa ¥ ¥ IS T

(10)

22.

23.

24,

25.

26.

Which one of the following sequences is
correct in the context of three largest
fieldpea producing states in India ?

(A) Punjab, Uttar Pradesh and Haryana

(B) Uttar Pradesh, Madhya Pradesh and
Punjab
(C) Uttar Pradesh, Punjab and Haryana

(D) Punjab, Odisha and Uttar Pradesh

Seed rate of True Potato Seed (TPS) for
one hectare is :

(A) 1009
(B) 250¢
(C) 5009
(D) 1000g

Botanical name of garden pea is :
(A) Pisum sativum var. arvense
(B) Pisum sativum var. chotens
(C) Pisum sativum var. hortense

(D) Pisum sacamum var. hortens

The most serious disease of potato is :
(A) Potato leaf roll virus (PLRV)
(B) Early blight

(C) Late blight

(D) Bacterial wilt

Potato tubers appear green colour due to :

(A) Carotenoids
(B) Xanthophyll
(C) Anthocyanin
(D) None of the above

Set-C



27. M B Wg BT OSYIRT D 27. Sugarcane bagasse is used for production

SATe @ forv fobar S £ Of o :

(A) TH IR faoTel (A) Heat and Electricity

(B) HTN g9 (B) Paper making

(C) fewiEe WE dewRl & fHfor (C) Manufacturing of disposable food
containers

(D) SWF &l (D) All of the above

28. WRAW g SR S o WM 28, Where is the Indian Institute of Wheat

(1IWBR) Fef Reg g ? and Barley Research (IIWBR) located ?

(A) B, SR Yo (A) Meerut, Uttar Pradesh
(B) g‘qﬁw, anfsam (B) Bhubaneshwar, Odisha
(C) ORI, UuTTE (C) Ludhiana, Punjab
(D) HRATA, BRAM (D) Karnal, Haryana
29. g @ T & AW 9 3N I D @ 29. Central zig-zag axis of wheat panicle is
called :
(A) DA (A) Culm
B®) I (B) Shoot
(©) Ifud (C) Rachis
(D) w13 (D) Crown

30. 3] @ UM H A dTel Bl Dl Dl @ - 30. The potato plant bears fruits is called :

(A) et (A) Balls
(B) DR (B) Caryopsis
(C) H (C) Capsule
(D) U (D) Drupe

AG—-6002 (11) Set-C



31.

32.

33.

34.

AG-6002

SO I MR B o S | TR I

g ?

(A) R gRmn

(B) TrwiiRar

(C) S 3RBT

(D) <R-udi gl 3R ST FeIl gl
Rl

AR B Nl B & -

(A) TARCHIT

(B) U@ferl

(C) TCRRRIel

(D) fafermsrit

TS g 4 ‘S SHM & did F®1
g °?

(A fefea efiren

®) fefew dvam

©) fferd o

(D) fefemn AF@IaH
frfoRed & & foa wofd & = @
Al BT S B 2

(A) A AfHAFRA

(B) TH. A

(C) TH R

(D) S

(12)

31.

32.

33.

34.

Which is considered as the place of origin
of chickpea ?

(A) Western Asia

(B) Nigeria

(C) Northern America

(D) South-Eastern
adjoining Syria

Turkey and

Pea flowers are :

(A) Cleistogamous
(B) Unisexual
(C) Heterostyly

(D) Monoecious

What is the source of ‘D’ genome in

hexaploid wheat ?
(A)  Triticum turgidum
(B) Triticum tauschii

(C) Triticum dicoccum

(D) Triticum monococcum

Which among the following species of
sugarcane is cultivated ?

(A) Saccharum officinarum

(B) S.sinense

(C) S. barberi

(D) All of the above

Set-C



35. OPYH AMHEH @ 999 §9ifdd oiel  35. The most probable wild progenitor of

ToadT § Saccharum officinarum is :
(A) TH. JIevcH (A) S. robustum

(B) TUH. g4 (B) S.sinense

(C) TH. eI (C) S. barberi

(D) TW. WM (D) S. spontaneum

36. ﬁﬁ ! B IS A Ugel a9 SN 36. The uppermost leaf before the panicle in

arelt ol pEe B wheat crop is known as :
(A) ow I (A) Leaf sheath
(B) T =TS (B) Leaf blade
(C) Tl oli% (C) Flag leaf
()REINE (D) Auricle
37. TR 15, BT Wigel TR AT 8 7 37.  What is the ploidy level of durum wheat ?
(A) HAFIwgs (A) Monoploid
(B) fEwifss (B) Diploid
(C) Iglwilgs (C) Tetraploid
(D) THIES (D) Hexaploid
38. o9 g d1 AYIId M § - 38.  The botanical name of club wheat is :
(A) . SEDHIHH (A) T.dicoccum
(B) <. chfeH (B) T.turgidum
(C) <. predeH (C) T.compactum
(D) < YA (D) T.durum

AG—-6002 (13) Set-C



39.

40.

41.

AG-6002

G . $ A H B! U dTell 5

M & foy 9El Rerar &1 ‘SF 91 &

fofy 9gd ART U oIT B | U &e @

8T Il © :

(GVAELE]

(B) T

(C) FHIR

(D) STdad # & Big AL

T H AT T § ?

(A) Tl Haxor Seedl & forg gtm
STel @ ARIH ¥ T Bl el B
B U Tepeileh |

(B) T BIX BRI H I WA &
fopaT ST W B |

C) Wdl & I B URRE B forg
AR 377 ThHID |

(D) SWa ¥ ¥ IS T

foe AIRT 10-5/0R 14’ 1A fadwRid @

S W AN Sl BT g A

T ?

(A) TS IRam

(B) M. g

(C) . 3R ¥R

(D) TUH. UH. MMM

(14)

39.

40.

41.

Some wheat flours take plenty of water to
make ‘dough’ of correct consistency for
making good quality bread. Such flours
are termed as :

(A) Strong
(B) Medium
(C) Weak

(D) None of the above

What is marcotting in sugarcane ?

(A) A technique of isolating canes for

subsequent  crossing  purposes

through  artificial  rooting  of
standing cane.

(B) Clones are grown in small

containers that can be readily

manipulated for crossing.

(C) The sulphurous acid technique for
preservation of flowering stalks.

(D) None of the above

Who developed a ‘Norin 10-Brevor 14’
line which became main source of the

two dwarfing genes in wheat ?

(A) N.E. Borlaug
(B) O. Vogel
(C) E.R.Sears

(D) M. S. Swaminathan

Set-C



42.

43.

44,

45.

AG-6002

g o gl W @ afel UieH &

39 B Pl AT 2 :

(A) R

(B) oA

(C) THI (A) 3R (B)

(D) SWH # | B &l

I3 BT T B 7

(A) T B g B 10-12 FTH B
BT & |

(B) T @ oA SUW 60-120
/BRI /W & 419 Bl 2 |

(C) I DI 3T Rpa<t 8% & 14% &
49 8 "o 7

(D) ST W

T & U :

(A) IREFRI IV HicaEg b1

(B) TH H oM Il @ folv &I ST
ST 2 |

(C) TH BT & AId A JaIRa il
gl

(D) Suga Wl

ST T B Yol HehwA ST
@1 ST A S 2

(A) o9 H

(B) R WRA H
© = frh 4
(D) ST H

(15)

42.

43.

44,

45.

The water insoluble fraction of flour
protein in wheat is referred to as :

(A) Lysine

(B) Gluten

(C) Both (A) and (B)

(D) None of the above

Which one is correct statement ?

(A) The growing season of sugarcane
varies from 10-12 months.

(B) The average cane yield ranges from
60-120 tonnes/ha./year.

(C) Average sugar recovery may range
between 8-149%.

(D) All of the above

Sugarcane isa:

(A) Perennial tropical grass
(B) Grown for the sugar stored in its

stem

(C) Propagated through stem cuttings

(D) All of the above

An octaploid cultivated sugarcane species
Saccharum officinarum is supposed to be
originated in :

(A) China

(B) North India
(C) New Guinea
(D) Argentina

Set-C



46.

471.

48.

49,

AG-6002

fy=forRad & & fod waa ® A-3 garer-

Yoy AT BT § 7

(A) TP
(B) TR
(C) T

(D) T
g H WEH $ foY BIFER a1 dH © ?

(A) TN 66

(B) U B

(C) T (A) 3R (B)

(D) STda # & Big AL

W B U B ude ¥ WG ol
faf =1 yoR @ § ?

(A) #fers Tirs

(B) 3ifaviferd TRrs

C) wrEfed Tirs

(D) SwF w0

el BN offae # {9 aR Aeaql § ?
(A) UIEH &1 99 9
(B) drgHecd Tggior Bl gl § ReRr

DXHAT
(C) =M (A) 3R (B)
(D) SUYa H A Pl el

(16)

46.

47.

48.

49.

Which of the following crops has Cj
photosynthetic pathway ?

(A) Maize

(B) Sorghum

(C) Sugarcane

(D) Wheat

Which one is the promising donor for

protein in wheat ?

(A) Atlas 66
(B) Nap Hal
(C) Both (A) and (B)

(D) None of the above

What are the different types of acids
secreted by the surface of the chickpea
plant ?

(A) Malic acid
(B) Oxalic acid
(C) Citricacid

(D) All of the above

How important are pulses in our lives ?

(A) Rich source of protein

(B) Fixing atmospheric nitrogen to soil

(C) Both (A) and (B)

(D) None of the above

Set-C



50. o9 Pl FHAT STl oHddT DI 50. Who is probable wild progenitor of

27 Chickpea ?

(A) RRR ﬁTfTH (A) Cicer bijugum

(B) IR SHhIs-vusH (B) Cicer echinospermum
(C) RER fedheicH (C) Cicer reticulatum
(D) Sugad FHI (D) Al of the above

51. 9 YoR @ =9 & WNeqolg IM 4 51. Which type of chickpea is also called

T I ? Garbanzos gram ?
(A) A T (A) Bengal gram
(B) WIgshIgHl (B) Microsperma
© X TRy (C) Desitype
(D) el FIR (D) Kabuli type

52. Ugell WiH-des IR T @l 52.  Which is the first machine-harvestable

P & ? chickpea variety ?
(A) Mg A AL @ 05106 (A) ICCV 05106
(B) el fasmH (B) Phule Vikram
(C) fa (C) Vijay
(D) farerret (D) Vishal

53. WHRG: M= & YA II <A Pl gl 53. The influorescence or tassel of sugarcane

I B is generally known as :
(A) ¥igd (A) Spike

B) W (B) Arrow

(C) (C) Racemose

(D) & (D) Head

AG—-6002 (17) Set-C



54,

gea A 9, ST %9 gedl, B4
R-THY AR WH, Iod AlKHT <o
qot, HH BIsa’ AMYl, URME IRy,
yeed & 9fd StRerll, ST Sdedd,

High sugar content, High juice purity,
Low non-sugars and starch, High
individual stalk weight, Low fibre
content, Early maturity, Responsive to

management, High tonnage are features

T @ foxr gonfa @ farean g ? of which sugarcane species ?
(A) T AqEH (A) S. robustum

(B) TH. Wifm (B) S.spontaneum

(C) U9, 3iffthefiA (C) S. officinarum

(D) SWE ¥ | TS el

(D) None of the above

55. T~ & TS Pl W IR I NdTem 55. The fibrous residue of the cane stalk left

& 972 WER Gy I HE AT 2 over crushing and extraction of the juice
IS known as :
(A) eI (A) Molasses
(B) Ts (B) Jaggery
(C) wmE (C) Bagasse
(D) Sugad F4I (D) All of the above
56. T UoHd ORI @I IOl g‘gf 56. Sugarcane Breeding Institute  was
of - established in :
(A) 1952 H TGS § (A) 1952 at Lucknow
(B) 1912 # BT H (B) 1912 at Coimbatore
(C) 1952 H P H (C) 1952 at Coimbatore
(D) 1912 § &S, H (D) 1912 at Lucknow

AG—-6002 (18) Set-C



57. T & JWHH H MR W fbad g
el o7 § ?
(A) 50-80
(B) 500-800
(C) 5000-8000
(D) 50000-80000
58. SR SiRE feas 4 o twifswlss
g7
(A)  SRIPT 3TeRRIT 3R SR¥PHT T
(B) SRAT 3MeRRm 3R sfiar A
(©) s v 3R SR Ju
(D) sfRyar U1 3R SRy AT
59. U We @ R # f=fafad § W d-w
BT el T ?
(A) AR W3R R IRd
TRORTAT 2 |
(B) Ul WAl W-9Td 3R IS
ORTA 2 |
(C) ORI TRY §89 WAl W-9d &,
Wefdh  dledl TEU gISd ORal
-3 3R e woRif £ |
(D) SHIE W
60. Yg-UrEN@E O (e aREH)
BT ST oxdh WAl D -l fHe
famRra o1 T3 ot ?
(A) T
(B) Ifd
(C) T SHAfHET
(D) SWa ¥ ¥ IS T
AG-6002
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57.

58.

59.

60.

Sugarcane panicle normally bears how
many minute flowers ?

(A) 50-80
(B) 500-800
(C) 5000-8000
(D) 50000-80000

Brassica
between :

juncea is a amphidiploid
(A) B.oleracea and B. rapa

(B) B. oleracea and B. nigra

(C) B.rapaand B. napus

(D) B.rapaand B. nigra

Which of the following statements is
correct about rape seed ?

(A) Toria is self-incompatible and
highly cross-pollinated.

(B) Yellow sarson is self-compatible
and highly self-pollinated.

(C) Brown sarson, tora types are self-
compatible, while brown sarson,
lotani types are self-incompatible
and highly cross-pollinated.

(D) All of the above

Which variety of mustard was developed
through utilizing the biotechnological

tools (somaclonal variation) ?

(A) Varuna
(B) Kranti
(C) Pusa Jaikisan

(D) None of the above
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, UoR a2l Hegerk

B o ST AT SHBT SYINT AT Ifoid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT S HUFROT & q= BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
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